Contract 24-14 - Nicolet Ave	enue Asphalt Cor	nstruction (#9037584)						
Owner: Oshkosh WI, City o		,						
Solicitor: Oshkosh WI, City								
Solicitor: Oshkosh vvi, City								
Bid Opening: 04/15/2024 11	:00 AM CDT							
Dia Opening. 01/15/202111	100 11111 CD 1							
					Vinton Construc	tion Company	Northeast A	enhalt Inc
				+	PO Box	• •	Horticast A	spirart, me.
					Two Rivers,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension Extension	Unit Price	Extension
Section 1	item Code	item Description	COLIVI	Qualitity	Chit i nee	\$333,583.69	ChitTrice	\$437,747.30
Section 1		Clearing; complete as		-		\$333,363.69		\$437,747.30
	1010	specified	Stations	1.00	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00
	1010	Grubbing; complete as	Stations	1.00	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00
	1020	specified	Stations	1.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
	1020	Mobilization; complete as	Stations	1.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
	1050	specified	Lump Sum	1.00	\$20,000.00	\$20,000.00	\$90,000.00	\$90,000.00
	1030	Removing curb and	Lump Jum	1.00	\$20,000.00	\$20,000.00	\$90,000.00	\$70,000.00
		gutter; complete as						
	1110	specified	Linear Feet	330.00	\$10.00	\$3,300.00	\$14.62	\$4,824.60
	1110	Removing concrete and	Linear reet	330.00	\$10.00	φ3,300.00	\$14.02	\$4,024.00
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	720.00	\$1.20	\$864.00	\$1.29	\$928.80
	1120	Unclassified excavation;	Square reet	720.00	φ1.20	\$004.00	\$1.27	\$920.00
	1200	complete as specified	Cubic Yards	2,050.00	\$19.75	\$40,487.50	\$15.02	\$30,791.00
	1200	Excavation special	Cubic raras	2,030.00	ψ17.73	φ±0,±07.50	ψ10.02	φου,7 71.00
		(paving); complete as						
	1220	specified	Tons	300.00	\$0.01	\$3.00	\$11.07	\$3,321.00
	1220	Pavement ties; complete	10110	500.00	ψ0.01	φυ.σσ	\$11.07	\$0,021.00
	1350	as specified	Each	90.00	\$8.00	\$720.00	\$12.00	\$1,080.00
		Adjust manholes and			4000	4. =0.00	4-2.00	42,00000
		inlets; complete as						
	1360	specified	Each	17.00	\$450.00	\$7,650.00	\$472.27	\$8,028.59
		Turf restoration;			,	, , ,	, .	12,2
	1370	complete as specified	Square Yards	392.00	\$15.75	\$6,174.00	\$8.00	\$3,136.00
		12" radius curb with 6"	1			,		,
		CABC and grading;						
	1410	complete as specified	Linear Feet	75.00	\$10.00	\$750.00	\$49.00	\$3,675.00
		30" curb and gutter; 7";						<u> </u>
		with 5" CABC and						
		grading; complete as						
	1440	specified	Linear Feet	340.00	\$48.00	\$16,320.00	\$46.75	\$15,895.00
		Sidewalk curb; complete				·		•
	1460	as specified	Linear Feet	25.00	\$35.00	\$875.00	\$40.00	\$1,000.00
		4" concrete sidewalk with						
		3" CABC and grading;						
	1500	complete as specified	Square Feet	400.00	\$10.50	\$4,200.00	\$8.35	\$3,340.00

Contract 24-14 - Nicolet Av	enue Asphalt Cor	nstruction (#9037584)						
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
	1							
Bid Opening: 04/15/2024 11	1:00 AM CDT							
	1							
					Vinton Constru	ction Company	Northeast A	snhalt Inc
					PO Bo	1 ,	Trortileust 11	зрину не.
					Two Rivers			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item code	6" concrete sidewalk/	COLIVI	Qualitity	Ollit Frice	Extension	Oint Trice	Extension
		driveway/ramp with 3"						
		CABC and grading;						
	1510		C E !	440.00	¢12.50	¢5 500 00	¢10.22	¢4 E40 00
	1510	complete as specified Curb ramp detectable	Square Feet	440.00	\$12.50	\$5,500.00	\$10.32	\$4,540.80
		warning field						
		_						
	1540	(natural/non-painted);	C F .	40.00	#2F 00	#1 400.00	#25.00	#1 400 O
	1540	complete as specified Drilled No. 4 sidewalk tie	Square Feet	40.00	\$35.00	\$1,400.00	\$35.00	\$1,400.00
		bars - deformed; epoxy-						
	1560	coated; complete as	Е 1	10.00	#4.00	#114.00	#10.00	#100.00
	1560	specified Cold weather covering	Each	19.00	\$6.00	\$114.00	\$10.00	\$190.00
		o l						
		(sidewalk) - single						
	4500	visquine; complete as		120.00	40.04	#4.00	40.40	040.00
	1580	specified	Square Feet	130.00	\$0.01	\$1.30	\$0.10	\$13.00
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	130.00	\$0.01	\$1.30	\$0.20	\$26.00
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	2.00	\$0.01	\$0.02	\$25.00	\$50.00
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	3.00	\$300.00	\$900.00	\$300.00	\$900.00
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	3.00	\$50.00	\$150.00	\$50.00	\$150.00
		Sawing existing						
		pavement; complete as						
	1700	specified	Linear Feet	160.00	\$3.50	\$560.00	\$2.44	\$390.40
		Base aggregate dense; 1-						
		1/4"; complete as						
	1801	specified	Tons	1,150.00	\$14.50	\$16,675.00	\$18.40	\$21,160.00
		Base aggregate dense; 3";						
	1802	complete as specified	Tons	1,900.00	\$14.50	\$27,550.00	\$18.19	\$34,561.00
		Tack coat; complete as						
	1900	specified	Gallons	360.00	\$2.78	\$1,000.80	\$2.75	\$990.00

Contract 24-14 - Nicolet Av	enue Asphalt Cor	nstruction (#9037584)						
Owner: Oshkosh WI, City o		(
Solicitor: Oshkosh WI, City								
onenon common (11) en	, 01							
Bid Opening: 04/15/2024 11	1:00 AM CDT							
					Vinton Constru	ction Company	Northeast A	sphalt, Inc.
					PO Bo		- 111111111	· F 4
					Two Rivers			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		HMA Pavement LT;		2				
	1901	complete as specified	Tons	1,300.00	\$75.85	\$98,605.00	\$75.10	\$97,630.00
		HMA cold weather		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	,,	1	,. ,
		paving up-charge;						
	1903	complete as specified	Tons	200.00	\$0.01	\$2.00	\$0.01	\$2.00
		Prepare foundation for						
		asphaltic paving;						
	1960	complete as specified	Lump Sum	1.00	\$7,500.00	\$7,500.00	\$9,450.00	\$9,450.00
		Furnish and install 12"	1		·	·	·	·
		RCP Class III storm						
		sewer; complete as						
	2004	specified	Linear Feet	65.00	\$120.45	\$7,829.25	\$100.00	\$6,500.00
		Furnish and install 18"						
		RCP Class III storm						
		sewer; complete as						
	2010	specified	Linear Feet	150.00	\$108.55	\$16,282.50	\$305.53	\$45,829.50
		Furnish and install 18"						
		RCP Class III apron						
		endwall with joint ties;						
	2142	complete as specified	Each	1.00	\$2,355.00	\$2,355.00	\$3,000.00	\$3,000.00
		Furnish and install						
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	4.00	\$1,035.00	\$4,140.00	\$1,300.00	\$5,200.00
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	2.00	\$3,500.00	\$7,000.00	\$2,700.00	\$5,400.00
		Furnish; install; maintain;						
		and remove Type D						
	2500	modified inlet protection;		42.00	#42= 00	44 (20 00	450.00	40.40.00
	2508	complete as specified Sediment removal - Type	Each	12.00	\$135.00	\$1,620.00	\$70.00	\$840.00
		D modified inlet						
	2510	protection; complete as specified	Eash	12.00	¢= 00	ØC0.00	¢1.00	¢10.00
	2510	Furnish; install; maintain;	Each	12.00	\$5.00	\$60.00	\$1.00	\$12.00
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	1.00	\$0.01	\$0.01	\$1,259.85	\$1,259.85
	2012	эресшей	EaCH	1.00	φυ.01	Ф0.01	Φ1,20 3. 60	\$1,239.00

Contract 24-14 - Nicolet Ave	enue Asphalt Cor	nstruction (#9037584)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
outeron common 111, cm								
Bid Opening: 04/15/2024 11	:00 AM CDT							
					Vinton Construc	ction Company	Northeast As	sphalt. Inc.
					РО Во			· F ,
					Two Rivers			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem code	Furnish; install; maintain;	001111	Quantity	Cintrice	Extension	Chit Title	Extension
		and remove stone bag;						
	2516	complete as specified	Each	15.00	\$22.00	\$330.00	\$10.00	\$150.00
	2510	Furnish; install; maintain;	Lacri	13.00	Ψ22.00	ψ330.00	\$10.00	ψ130.00
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	40.00	\$12.00	\$480.00	\$8.00	\$320.00
	2516	Furnish; install; maintain;	Linear reet	40.00	\$12.00	\$ 4 00.00	\$8.00	\$320.00
		and remove dewatering						
		tank system; complete as						
	2524	specified	Eash	1.00	\$0.01	\$0.01	\$1,800.00	\$1,800.00
	2524	Furnish; install; maintain;	Each	1.00	\$0.01	\$0.01	\$1,800.00	\$1,000.00
		and remove turbidity						
	2526	barrier; complete as specified	Each	1.00	\$2,600.00	\$2,600.00	\$2,000.00	\$2,000.00
	2526	Furnish and install Class	Eacn	1.00	\$2,600.00	\$2,600.00	\$2,000.00	\$2,000.00
		I; Urban; Type A erosion						
		* *						
	2622	control mat; complete as	C	60.00	\$3.00	#100.00	#2.00	¢120.00
	2632	specified Furnish and install	Square Yards	60.00	\$3.00	\$180.00	\$2.00	\$120.00
		medium rip-rap with						
	2640	filter fabric; complete as	C Y 1	20.00	#00.00	ф 2 400 00	#100.00	#2 000 00
	2648	specified Abandon 8" - 12" storm	Square Yards	30.00	\$80.00	\$2,400.00	\$100.00	\$3,000.00
	2000	sewer; complete as	T. F.	200.00	#1F (O	ф2.1 2 0.00	#25.00	#F 000 00
	2800	specified Abandon storm sewer	Linear Feet	200.00	\$15.60	\$3,120.00	\$25.00	\$5,000.00
	2010	manholes and inlets;		2 00	4.20.00	44.240.00	#=00.00	44 000 00
	2810	complete as specified	Each	2.00	\$620.00	\$1,240.00	\$500.00	\$1,000.00
		Connect to existing storm						
	2050	sewer main; complete as			A 40= 00	ha :== ::		40.000
	2850	specified	Each	3.00	\$485.00	\$1,455.00	\$1,000.00	\$3,000.00
	1	Excavation special						
		(storm); complete as						
	2950	specified	Tons	100.00	\$0.01	\$1.00	\$13.74	\$1,374.00
	1	Furnish and install 10"						
		sanitary sewer (relay);						
	3002	complete as specified	Linear Feet	15.00	\$510.00	\$7,650.00	\$200.00	\$3,000.00

Contract 24-14 - Nicolet Av	enue Asphalt Con	struction (#9037584)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
Bid Opening: 04/15/2024 1	1:00 AM CDT							
					Vinton Construc		Northeast A	sphalt, Inc.
					PO Bo	x 137		
					Two Rivers,	WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	4.00	\$455.00	\$1,820.00	\$735.32	\$2,941.28
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	1.00	\$370.00	\$370.00	\$527.48	\$527.48
		Furnish and install						
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	4.00	\$2,062.00	\$8,248.00	\$1,000.00	\$4,000.00
Bid Total:						\$333,583.69		\$437,747.30

Contract 24-14 - Nicolet Avenu	ue Asphalt Cor	struction (#9037584)				
Owner: Oshkosh WI, City of	l Aspilan Con	(#9037304)				
	<u> </u>					
Solicitor: Oshkosh WI, City o	<u> </u>					
Bid Opening: 04/15/2024 11:00	AMCDT					
Did Opening. 04/13/2024 11.00	I					
					MCC	Inc
					WICC	, mc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1	Trem cone	item Bescription	001111	Quartery	CARL TARCE	\$1,441,640.24
Section 1		Clearing; complete as				ψ1,111,010.21
	1010	specified	Stations	1.00	\$3,000.00	\$3,000.00
	1010	Grubbing; complete as	Stations	1.00	φο,σσσ.σσ	ψ0,000.00
	1020	specified	Stations	1.00	\$2,200.00	\$2,200.00
	1020	Mobilization; complete as	Ottations	1.00	\$2,200.00	Ψ2/200100
	1050	specified	Lump Sum	1.00	\$44,326.80	\$44,326.80
	1000	Removing curb and	Zump dum	1.00	ψ11/020.00	\$11/0 2 0.00
		gutter; complete as				
	1110	specified	Linear Feet	330.00	\$6.79	\$2,240.70
	1110	Removing concrete and	Zinear rece	550.00	ψο >	Ψ=/= 10.7 0
		asphalt sidewalk and				
		driveway; complete as				
	1120	specified	Square Feet	720.00	\$0.77	\$554.40
		Unclassified excavation;	1		,	******
	1200	complete as specified	Cubic Yards	2,050.00	\$35.76	\$73,308.00
_		Excavation special		,	4	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		(paving); complete as				
	1220	specified	Tons	300.00	\$7.15	\$2,145.00
		Pavement ties; complete			·	
	1350	as specified	Each	90.00	\$12.00	\$1,080.00
		Adjust manholes and				
		inlets; complete as				
	1360	specified	Each	17.00	\$900.00	\$15,300.00
		Turf restoration;				
	1370	complete as specified	Square Yards	392.00	\$8.95	\$3,508.40
		12" radius curb with 6"	•			
		CABC and grading;				
	1410	complete as specified	Linear Feet	75.00	\$51.81	\$3,885.75
		30" curb and gutter; 7";				
		with 5" CABC and				
		grading; complete as				
	1440	specified	Linear Feet	340.00	\$50.89	\$17,302.60
		Sidewalk curb; complete				
	1460	as specified	Linear Feet	25.00	\$40.00	\$1,000.00
		4" concrete sidewalk with				
		3" CABC and grading;				
	1500	complete as specified	Square Feet	400.00	\$8.88	\$3,552.00

Contract 24-14 - Nicolet Ave	nue Asphalt Cor	struction (#9037584)				
Owner: Oshkosh WI, City of				1		
Solicitor: Oshkosh WI, City						
Sometion Someon 112, City	1					
Bid Opening: 04/15/2024 11:	00 AM CDT					
Did Opening. 01/15/202111.	0071117 CD 1					
					MCC,	Inc
					WICC,	IIIC.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section Title	Tem code	6" concrete sidewalk/	COIN	Quantity	Chitrine	Extension
		driveway/ramp with 3"				
		CABC and grading;				
	1510	complete as specified	Square Feet	440.00	\$10.88	\$4,787.20
	1510	Curb ramp detectable	Square reet	110.00	ψ10.00	ψ±,7 07 .20
		warning field				
		(natural/non-painted);				
	1540	complete as specified	Square Feet	40.00	\$35.00	\$1,400.00
	1340	Drilled No. 4 sidewalk tie	Square reet	40.00	ф55.00	\$1,400.00
		bars - deformed; epoxy-				
		coated; complete as				
	1560	specified	Each	19.00	\$10.00	\$190.00
	1500	Cold weather covering	Lacri	17.00	ψ10.00	ψ170.00
		(sidewalk) - single				
		visquine; complete as				
	1580	specified	Square Feet	130.00	\$0.10	\$13.00
	1500	Cold weather covering	oquare reet	100.00	φ0.10	ψ10.00
		(sidewalk) - double				
		visquine; complete as				
	1582	specified	Square Feet	130.00	\$0.20	\$26.00
	1002	Up-charge for late season	oquare reet	100.00	\$0. <u>2</u> 0	\$20.00
		cold weather concrete				
		sidewalk; complete as				
	1590	specified	Cubic Yards	2.00	\$25.00	\$50.00
		Locate existing property			*	
		monuments; complete as				
	1650	specified	Each	3.00	\$871.20	\$2,613.60
		Replace existing property			40.2120	4=/0-2000
		monuments; complete as				
	1652	specified	Each	3.00	\$1,000.00	\$3,000.00
		Sawing existing			, ,	, , , , , , , , , , , , , , , , , , , ,
		pavement; complete as				
	1700	specified	Linear Feet	160.00	\$1.85	\$296.00
		Base aggregate dense; 1-				,
		1/4"; complete as				
	1801	specified	Tons	1,150.00	\$27.53	\$31,659.50
		Base aggregate dense; 3";				. ,
	1802	complete as specified	Tons	1,900.00	\$28.87	\$54,853.00
		Tack coat; complete as				
	1900	specified	Gallons	360.00	\$9.14	\$3,290.40

Contract 24-14 - Nicolet Avenu	ie Asphalt Con	struction (#9037584)				
Owner: Oshkosh WI, City of	· · · · · · · · · · · · · · · · · · ·	,		1		
Solicitor: Oshkosh WI, City of						
continuit contacon 112, city of						
Bid Opening: 04/15/2024 11:00	AM CDT					
					MCC	. Inc.
						,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		HMA Pavement LT;		~		
	1901	complete as specified	Tons	1,300.00	\$119.72	\$155,636.00
		HMA cold weather			·	. ,
		paving up-charge;				
	1903	complete as specified	Tons	200.00	\$5.00	\$1,000.00
		Prepare foundation for				
		asphaltic paving;				
	1960	complete as specified	Lump Sum	1.00	\$13,278.95	\$13,278.95
		Furnish and install 12"	_			
		RCP Class III storm				
		sewer; complete as				
	2004	specified	Linear Feet	65.00	\$120.00	\$7,800.00
		Furnish and install 18"				
		RCP Class III storm				
		sewer; complete as				
	2010	specified	Linear Feet	150.00	\$600.00	\$90,000.00
		Furnish and install 18"				
		RCP Class III apron				
		endwall with joint ties;				
	2142	complete as specified	Each	1.00	\$3,750.00	\$3,750.00
		Furnish and install				
		standard storm sewer				
		inlet manhole (4'				
	2212	diameter); complete as		4.00	ф1 2 00 00	#4.000.00
	2213	specified Furnish and install Type 3	Vertical Feet	4.00	\$1,200.00	\$4,800.00
	2237	inlet (with 18" sump); complete as specified	Each	2.00	\$3,850.00	\$7,700.00
	2237	Furnish; install; maintain;	Eacii	2.00	\$3,630.00	\$7,700.00
		and remove Type D				
		modified inlet protection;				
	2508	complete as specified	Each	12.00	\$115.00	\$1,380.00
	2000	Sediment removal - Type	zacri	12.00	Ψ110.00	\$1,000.00
		D modified inlet				
		protection; complete as				
	2510	specified	Each	12.00	\$15.00	\$180.00
		Furnish; install; maintain;				
		and remove stone				
		tracking pad; complete as				
	2512	specified	Each	1.00	\$1,731.14	\$1,731.14

Contract 24-14 - Nicolet Aven	ue Asphalt Cor	nstruction (#9037584)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o	<u> </u>					
John China Common Wi, City o						
Bid Opening: 04/15/2024 11:00	AM CDT					
Did Opening. 04/15/2024 11:00	I					
					MCC,	T
					MCC,	inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section Title	nem code	Furnish; install; maintain;	COIM	Quantity	Oint Trice	Extension
		and remove stone bag;				
	2516	complete as specified	Each	15.00	\$12.00	\$180.00
	2510	Furnish; install; maintain;	Each	15.00	\$12.00	\$160.00
		and remove 12" diameter				
		sediment logs; complete				
	2518	as specified	Linear Feet	40.00	\$8.40	\$336.00
	2316	Furnish; install; maintain;	Linear reet	40.00	\$0.40	ф330.00
		and remove dewatering				
		tank system; complete as				
	2524	specified	Each	1.00	\$15,000.00	\$15,000.00
	2324	Furnish; install; maintain;	Each	1.00	\$15,000.00	\$15,000.00
		and remove turbidity				
		barrier; complete as				
	2526	specified	Each	1.00	\$2,500.00	\$2,500.00
	2326	Furnish and install Class	Eacn	1.00	\$2,300.00	\$2,300.00
		I; Urban; Type A erosion				
		control mat; complete as				
	2632	specified	C	60.00	#2.00	\$120.00
	2032	Furnish and install	Square Yards	60.00	\$2.00	\$120.00
		medium rip-rap with				
	2649	filter fabric; complete as specified	C	20.00	фод сод ос	#020 120 00
	2648	Abandon 8" - 12" storm	Square Yards	30.00	\$27,637.36	\$829,120.80
	2800	sewer; complete as specified	Linear Feet	200.00	\$15.00	¢2,000,00
	2000	Abandon storm sewer	Linear reet	200.00	\$15.00	\$3,000.00
		manholes and inlets;				
	2810	complete as specified	Each	2.00	\$760.00	\$1,520.00
	2010	Connect to existing storm	Each	2.00	\$700.00	\$1,520.00
		sewer main; complete as				
	2850	specified	Each	3.00	\$1,800.00	\$5,400.00
	2000	Excavation special	Each	3.00	\$1,000.00	φυ ₁ 400.00
		(storm); complete as				
	2950	specified	Tons	100.00	\$15.00	\$1,500.00
	2930	Furnish and install 10"	10115	100.00	ф15.00	\$1,300.00
		sanitary sewer (relay);				
	3002	complete as specified	Linear Feet	15.00	\$450.00	\$6,750.00
	3002	complete as specified	Lineal Feet	15.00	\$ 4 50.00	φυ,/ 50.00

Contract 24-14 - Nicolet Avenu	ue Asphalt Con	nstruction (#9037584)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of	f					
Bid Opening: 04/15/2024 11:00	AM CDT					
					MCC	, Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install				
		sanitary sewer external				
		manhole chimney seal;				
	3114	complete as specified	Each	4.00	\$725.00	\$2,900.00
		Furnish and install				
		sanitary sewer external				
		manhole chimney seal				
		extension; complete as				
	3116	specified	Each	1.00	\$475.00	\$475.00
		Furnish and install				
		connection to existing 10"				
		sanitary sewer mains;				
	3302	complete as specified	Each	4.00	\$2,500.00	\$10,000.00
Bid Total:						\$1,441,640.24